(ICrazy Iron

SUZUKI GSXS750
ID: 2700112/2700117
Installing:

Left side:

1. Bolt M10x1,25x90 + Washer + Spring washer + Slider + screw
2.
3. Bolt M10x1,25x90 + Washer + Spring washer + Slider + screw
4. Bolt M10x30 + Washer + Spring washer + Brace 22x10x350
5. Bolt M10x30 + Washer + Spring washer + Brace #3
6. Rod M10x300 + Washer + Nut
7. Rod #5 + Washer + Nut
8. Slider + screw (In case Damper Cage us Damper sliders)
9. Slider + screws (In case Damper Cage us Damper sliders)
Tightening torques Nm
Comments: Connection type
1. Remove original Bolts in points Nel and Ne5 Thread Stoel Aluminam
2. Attach left side of cage to motorcycle and screw lightly
with Bolt M10x1,25x90 in point Nel and with rod M6 10 6
M10x300 in point Ne5. M8 24 20
3. Remove original Bolt in points Ne2 and Ne6 M10 48 35
4. Attach right side to motorcycle and screw lightly with MI2 56 45
bolt M10x1,25x90 in point Ne2 and rod M10x300 in
point Ne6.
5. Install brace between points Ne3 and Ne4 screw lightly with bolts M10x30
6. Tighten the fasteners according to the table.

7. Install Sliders in points Nel,2,7,8 (In case 2600117 use damper sliders).



